@ *RBW 10 kHz  Marker 1 [ T1 ] o= O
* VBW 30 kHz 43.87 dBuv
Ref 87 dBuv *Att O dB * SWT 200 ms 27.048000000 MHz

Marker| 42 [ T1 ]

50 8.59 d4dBuv
26|. 960000900 muz |IEM
. Marker| 3 [ T1 ]
(o] M kel b d
m —70 [SACI : EP AERe ¥ n ) = a1
27|-480000p00 MH=z
60
50
1
)
30
20

F1
|

Center 27.12 MHz 50 kH=z/ : Span 500 kH=z

--10

Date: 26.DEC.2005 17:55:19



% *RBW 10 kHz Marker 1 [ T1 ]
* VBW 30 kHz 44 .84 dBpv

Ref 87 dBpv *Att 0O dB *SWT 200 ms 27.142000000 MHz
Marker| 32 [ T1 ]
LBO _ 8.85 dBuv
26|.960000Dp00 MHz
Marker| 3 [ T1 ]
m _70 7. :5 dBHTVT
27.280000900 MHz
60
50
1
40 [’\
30
20 \
" Mﬁ X TYITTATY \1“*“1}"’“ '
-0
E2
Fl
-—10 i
Center 27.12 MH=z 50 kHz/ : Span 500 kHz

Date: 26.DEC.2005 18:00:30



® *RBW 10 kH=z Marker 1 [ T1 ]
*VBW 30 kHz 46.40 dBpv
Ref 87 dBpv *Att 0 dB *SWT 200 ms 27.048000000 MHz

A Marker| 2 [ T1 ]
80 9.63 dBuv

26/.960000000 MH=z “
Marker| 3 [ T1 ]
@ =70 F~p 7 —aBrV

27.280000D00 MH=z

60

-50 T

40 /\\

30

20

-3

qo i N \‘\VU‘ I |

Fl
|

Center 27.12 MHz 50 kHz/ : Span 500 kHz

-—10

Date: 26 .DEC.2005 17:58:10



<%%> *RBW 10 kHz Marker 1 [ T1 ]
*VBW 30 kHz 47.24 dBpv
Ref 87 dBpv *Att O dB * SWT 200 ms 27.141000000 MHz

Marker| 2 [ T1 ]

-80 8.29 dBuv
26.$60000D00 MH=z
i Marker| 3 [ T1 ]
. 4
70 9P O—dABuV
27(.480000000 MH=z
60
L 50 1
40
30
20

Fl
-10 f

Center 27.12 MH=z 50 kHz/ . Span 500 kHz

Date: 26.DEC.2005 18:00:49



*RBW 10 kH=z
*VBW 30 kH=z

Marker 1 [ T1 ]

47.07 dBpv

Ref 87 dBuv *Att O dB *SWT 200 ms 27.048000000 MH=z
Marker| 2 [ T1 1
80 7.5 dBuv
26.960000D00 MH=z
Marker| 3 [ T1 ]
!
m —70 7 - )8 dBHTVT
27(.480000p00 MH=z
60
-50 —+
-40
-30
20 \
| 14 I/ \ll 1 || i
-0
F2
Fl
——10 i
Center 27.12 MHz 50 kHz/ Span 500 kHz
Date: 17:59:08

26 .DEC.2005



<%%> *RBW 10 kHz Marker 1 [ T1 1]
* VBW 30 kHz 47.18 dBuv
Ref 87 dBuv *Att O dB *SWT 200 ms 27.142000000 MHz

Marker| 3 [ T1

60 8.53 dBuVv
26.960000p00 MH=Z
Marker| 3 [ T1 ]
I
@ 70 8= JG \AD}A‘V’
27.280000p00 MH=z
60
-50 1
40
-30
20

Fl
10 -

Center 27.12 MHz 50 kHz/ . : Span 500 kHz

Date: 26.DEC.2005 18:01:50

{/



